Division par Puissances de Dix (F)

Trouvez chaque quotient.

9+ 10! = 9,89 + 103 =
8,235 + 10° = 9,2176 + 102 =
47 +10° = 8,6246 + 10° =
8,976 + 102 = 6,648 + 103 =
5,71 + 10% = 3,2193 + 103 =
8,3203 = 10° = 3,87 + 10° =
2,33 +10% = 6,18 - 10% =
1,99 - 103 = 7,64 101 =
9,11 +~ 10% = 1,5 =101 =
3,6424 + 10° = 8,2 + 103 =
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Division par Puissances de Dix (F) Solutions

Trouvez chaque quotient.

9+10'=0,9

8,235 + 10° = 0,008235

4,7 +10% = 0,0047

8,976 + 10% = 0,08976

5,71 +10°=0,00571

8,3203 + 10° = 0,0083203

2,33 +10%=0,0233

1,99 = 10% = 0,00199

9,11 + 10%=0,0911

3,6424 + 10° = 0,0036424

9,89 + 10° = 0,00989

9,2176 + 10* = 0,092176

8,6246 =+ 10° = 0,0086246

6,648 + 10° = 0,006648

3,2193 + 10°* =0,0032193

3,87 + 10° =0,00387

6,18 + 10°=0,0618

7,64 +10' = 0,764

1,5+10'=0,15

8,2 +10°=0,0082
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